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When she woke up, she found that her house by the thunderstorm.
A. was destroyed B. destroyed

C. had been destroyed  D. had destroyed

Paris is the capital and largest city of France, the River Seine.

A. situated on B. situating in C. situated in  D. situating on

By the time he was twelve years old ,he a chemistry lab of his own:
A . had been set up B. had set up

C. have been set up D. have set up

Sandstorms in China appear, to have increased in recent years “desertification”.

A . as aresult B/fasavesult of C. as resultof D. as aresult of it

5.

Boby got a higher incomebecause he had made great contributions  the
company.

Astfor B. to C.of D. On

0.

The weather turned out to be very good,  was more than we could expect.

A. what B. which C. that D. it

___more than 80% of children in developing countries go to primary school, about 115 million

children are not being educated.

A. When B. However C. Although D. Unless



